50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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a.

b.

C.

;'b

C.

b.

C.

a.

b.

C.

Expand f(x) =x — x? as a Fourier:series in the interval (-, n) ‘ (08 Marks)

Obtain the half range Fourier+ ¢osine series for the function f(x) = sin x, 0 < x < 7. (06 Marks)
Obtain the constant tenn§ nd the coefficient of the. ﬁrst ine and cosine terms in the Fourier

series of f(x) as glven inithe following table:

0 4 15
€7 (06 Marks)
V U
® QR
Obtain the Fourier series for f{x) = S“’%Jnx in the range (—m, 1) where m is neither zero nor an

(08 Marks)

mtegen,@ 5
Obtain half range cosine series forw”“
Kx, 0<x<l/2
£(x) = o
K(L-x), L1/2<%<
and hence deduce that (06 Marks)
Express Y as a Fourie
x|o | %422
v 3 3
72 (3.6
(06 Marks)

Hence evaluate

(08 Marks)
Obtain they Fourler cosine transf@rm of ¢™ (06 Marks)
Obtain the inverse Z- transf ‘r%grf'of —-2—Z—+——3Z—— (06 Marks)

&) (z+2)(z-4)
M OR
27243z +4
Given Z(u,) qW , |z|> 3, show thatuo=0,u; =2, u, = 21. (08 Marks)
%

Solve by using Z-transforms, y,,, + 6Y,,, +9y, =2" withyo=y1 = 0. (06 Marks)
Find thé otirier transform of f(x) = e (06 Marks)
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Module-3 ‘s
Find the coefficient of correlation for the following d 4
x ]50[50]55[60][65]65]|65
y 111314 (16|16 | 15|15

(08 Marks)

By the method of least «lme that best fits the followmg data:

X 11213
y 14 | 27 | 40

Vs (06 Marks)
x—x =0 near x =4.5 (x is in
(06 Marks)

e
Obtain the lines of regressmn and hence find the cogfﬁ?ient of correlation for the data:
4 W’

(08 Marks)

(06 Marks)

From the following table ﬁnd t(86 usin
40 | 50 |#60 | 70
f(x) 180 ;204 226 | 250

4 "
4

Given the valués:

(08 Marks)

i) 1 5 5 & L4
f(9) using Newton s &1v1ded difference fo I (06 Marks)

" 14 m “@;g
Compute the value of 4 ﬁmnx —logx +¢*

%;
Sl

rule taking six equal

N (06 Marks)
ate value of f(x).a at x = 1.1 from the following data:
1.4 2
fix) | 0 0.544 - 4 CMRIT LIBRARY
o BANGALORE - 560 037 - (08 Marks)
Find the polynomial f(x).by using Langrage’s formula from the following data:
% 0[1]2] 5
f(x) |2|34112|147
: ) (06 Marks)
Evaluate J log, xdx by Weddle’s rule taking six equal strips. (06 Marks)
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Module-5

bounded by y=xandy = X% (08 Marks)

Evaluate j-xydx+ xy’dy by Stoke’s theoren% “where c is the square ’mﬁfhe x-y plane with

(06 Marks)

(06 Marks)

* CMRIT LIBRARY
RANGALORE - 560 037

Fde where v is the region bounded by the

y
k.

(08 Marks)

(06 Marks)

~

Jommgn;hem.
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